
E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

ITEM MODEL

44185 PP-IT-0018



E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

ITEM MODEL

44185 PP-IT-0018

Item No. Description Position Item No. Description Position Item No. Description Position

64598 Pin for 44185 1 64613 50 uF Capacitor for 44185 19 64631 Water Tube 8x22 for 44185 37

64599 5x5x15 Key for 44185 2 64615 Complete Motor V.110/60Hz 
for 44185 20 64632 Strap 15/18 for 44185 38

64600 Mechanical Seal D.25 for 
44185 3 64616 Motor Pulley for 44185 21 64633 Solenoid Valve for 44185 39

64601 Bearing 6004 2RS for 44185 4 64617 Washer 10x20x2 for 44185 22 64634 80/50 Discharge Reduction 
for 44185 40

64602 Seeger from 42 for 44185 5 64618 Nut M10 for 44185 23 AH511 Screw M4x10 Cross Head (2 
pcs.) for 44185 41

64603 Ring OR 6225 for 44185 6 64619 Upper Cover Handle for 
44185 24 70206 Tapping Screw 4.6x10 (2 

pcs.) for 44185 42

64604 M8x16 Flanged Screw (6 
pcs.) for 44185 7 64620 Special Stainless Nut M6 (2 

pcs.) for 44185 25 64673 Electrical Panel Bracket for 
44185 43

64605 Flange Seal Gasket (6 pcs.) 
for 44185 8 64621 Stainless Steel Screw M6x14 

(2 pcs.) for 44185 26 AH512 Electric Board Bush (2 pcs.) 
for 44185 44

64606 Motor Flange for 44185 9 64622 Transparent Cover (Seal 
Included) for 44185 27 64635 Water Load Tube for 44185 45

64602 Seeger from 42 for 44185 10 AI406 Screw M6x8 Allen Head (2 
pcs.) for 44185 28 64636 Keyboard Cover for 44185 46

64601 Bearing 6004 2RS for 44185 11 AI407 Stainless Steel Washer 
6x12x1.5 (2 pcs.) for 44185 29 64637 Digital Keypad for 44185 47

64607 Conduit Pulley for 44185 12 AI408 Plastic Washer 8x16x1.6 (4 
pcs.) for 44185 30 64638 Micro Magnetic Cover for 

44185 48

64608 Belt J12 for 44185 13 64625 Inox Screw Cover (2 pcs.) for 
44185 31 64639 Electronic Control Board for 

44185 49

15364 Washer 8x32x2 for 44185 14 64626 Magnet 6x20 Cover for 
44185 32 64640 Rubber Handle 20mm for 

44185 50

15440 Screw 8x25 for 44185 15 64627 Cover Gasket for 44185 33 64641 Cable Gland PG13.5 for 
44185 51

70181 Washer 8x16x1.5 (4 pcs.) for 
44185 16 64628 Nozzle of Water for 44185 34 15372 Screw 5x25 (N°4PZ) for 

44185 52

64609 Stainless Grain M8x35 (2 
pcs.) for 44185 17 64629 Resca for Water Jet Nozzle 

for 44185 35 64642 Electric Box for 44185 53

64611 Nut M8 (2 pcs.) for 44185 18 64630 Strap 13/15 for 44185 36 64643 Electric Box Gasket for 44185 54



E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

Item No. Description Position Item No. Description Position Item No. Description Position

64644 Power Board B.T. V.110/60Hz 
for 44185 55 64656 Handle Grip for 44185 68 64664 Stainless Steel Bush (2 pcs.) 

for 44185 80

64645 Cable Tie 80/100 for 44185 56 64657
M6x25 Stainless Steel 
Screw Head (2 pcs.) for 
44185

69 64665 Screw 6x8 Inox Button (2 
pcs.) for 44185 81

64646 80mm Exhaust Pipe for 
44185 57 64658 Right Arm Handle for 44185 70 64666 Cover Handle Bar for 44185 82

64647 8x16x1.5 Inox Washer (4 
pcs.) for 44185 58 64659 Door Sticker for 44185 71 64667 Screw 5x8 Inox (2 pcs.) for 

44185 83

64648 Screw 8x18 Inox (4 pcs.) for 
44185 59 64620 Special Stainless Nut M6 (2 

pcs.) for 44185 72 64671 Abrasive Canvas for 44185 84

64649 Bottom C / Gambe Inox for 
44185 60 64621 Stainless Steel Screw 

M6x14 (2 pcs.) for 44185 73 64669 Stainless Steel for 44185 85

64650 Foot (4 pcs.) for 44185 62 64660 Door Gasket for 44185 74 64672 Pelapated Abrasive Plate for 
44185 86

64651 Drawer Handle for 44185 63 64661 Magnet 6x15 Door for 
44185 75 64674 Transparent Cover Complete 

for 44185 87

64624 Screw 6x8 Inox T.E. (2 pcs.) 
for 44185 64 64662 Door for 44185 76 64676

Complete Door with Handles, 
Gasket, Screws and Magnet 
for 44185

88

64652 Waste Drawer for 44185 65 64657
M6x25 Stainless Steel 
Screw Head (2 pcs.) for 
44185

77 64678 Drawer Complete with 
Handle for 44185 89

64653 Waste Filter for 44185 66 64620 Special Stainless Nut M6 (2 
pcs.) for 44185 78 64677 Electrovalve Kit Complete for 

44185 90

64654 Left Arm Handle for 44185 67 64663 Micro Magnetic Door for 
44185 79

ITEM MODEL

44185 PP-IT-0018


